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0248 20lle =2 SEH X
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B LAY
SRl A2 (SENLESSSIH) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S P41 5,558,286 4,369,033 1,189,253
Jl 3,588,619
= 1,969,667
+E2H 1,662,551 1,200,439 462,112
Jl 1,386,619
[Ea 275,932
A2l (=EMEELSIH) 1,662,551 1,200,439 462,112
Jl 1,386,619
s 275,932
2| HEFOUX A (HHPA FRIXALY) 559,609 534,123 25,486
Jl 539,609
= 20,000
201 Ler=23 | 43,000 23,119 19,881
) 43,000
03 A2 b 43,000 23,119 19,881
O8RS AIL 43,000
—HPASQIR AN (ET) 23,000
Jl 23,000
—HIAAZT AL (HEH) 20,000
Jl 20,000
401 AIEHIZ R OHYI 188,610 229,785 A41,175
7l 168,610
Ea 20,000
01 Al&HI 188,610 229,785 A4 175
OxHEHRAFLUX 2 AL 188,610
Il 168,610
= 20,000
402 I2FX=01 & 327,999 281,219 46,780
) 327,99
02 QI X2 AL EE (01X THE) 327,99 281,219 46,780
Oz AFUX A AL 327,99
Il 327,999
d=H SEXEAE 912,000 475,000 437,000
Jl 672,000
s 240,000
402 QI2F X201 & 912,000 475,000 437,000
Jl 672,000
= 240,000
03 2I2+RAETAIS I 912,000 475,000 437,000
OZBZEAHZ(LPG) ESAIS (E2H) 912,000
) 672,000
Ea 240,000
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7l 44,010
s 16,932
101 @124H| 43,493 37,988 5,505
Jl 33,341
= 10,182
03 SRH(RINHA) 222+ 43,493 37,988 5,505
OF=EAF0RZAY XA 43,493
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) 3,655
—SEFOHI 2,436,440 «60%+23] 2,924
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o 2,836
—ItESE 20,0008 x2S * 122 480
—ARsFIt=rE 104,640 » 13 1,361
—A2e|=E
19,6203 x 1 *10Al 2H+ 123 2,355
201 er2 3| 6.169 5,669 500
) 5,669
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® 2=2H| 5,669 5,669 0
ORFID B2 E EH| 5,669,000 * 14 5,669
7l 5,669
202 04| 5,000 4,100 900
Il 5,000
01 =LHAHI 5,000 4,100 900
OAt =N AEHE 2] 5,000
) 5,000
04 HSRESS 5,280 4,559 721
04 R (RIHA)22N BEESRES S 5,280 4,559 721
O+ FLUX2AY 22X DSEHY
44,000,000 *12% 5,280
a2 2 12,000 12,000 0
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FA S Y
B @IS MRl el
Chel: EBAHA @ RhHel(SENLSHEH) (LSRN SLEH) (choy: @2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=32= & HAl 454,800
—HIIe3 35,000,000& x12& 420,000
) 234,242
o 185,758
— &3 2,900,000~ 128 34,800
202 04| 720 720
01 SLHoIH 720 720
ONE2LBTHE 92 28
20,0003 x3H*13]x 123 720
307 el2to| & 2,403,175 991,708 1,411,467
) 1,405,758
o 997,417
05 212+ =S 2,403,175 991,708 1,411,467
OIIEEXclAlE 2e|te S| 2,394,175
Il 1,405,758
o 988,417
OEEESSHcE MEs ruTF= 9,000
401 AIZHIZ SO 640,000 530,000 110,000
Jl 512,000
Ea 128,000
01 AlZH| 640,000 530,000 110,000
ON=2a33HE AIEIHE A 640,000
) 512,000
o 128,000
EAIIZAER2E KYFOIEERARSE 169,200 287,090 A117,890
7l 50,000
= 119,200
201 er2 3| 169,200 268,460 299,260
Il 50,000
= 119,200
2 s5=34l 169,200 265,760 96,560
O332= % HAl 169,200
—HIIResS 14,000,000 « 122 168,000
Il 50,000
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— &= R23 100,000« 12& 1,200
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SA: HMSHSSAYA
Hu: HRES(HSNS
S EVE S EIE=bI

Cte SIHN (=EMNESESIH) (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEi=2s At g A 3,402,928 1,821,219 1,581,709
Jl 3,402,928
HRes(HSHSSAE L) 3,402,928 1,821,219 1,581,709
Jl 3,402,928
UWRHHXE(EMESLES) (SENLSESIH) 3,402,928 1,821,219 1,581,709
Jl 3,402,928
SL=AHI1I3 BES(EFIIZAMEER 2E)N(ER) 2,595,030 1,599,000 996,030
) 2,595,030
701 JIEtRI HSHES 2,59%,030 1,599,000 996,030
Il 2,595,030
01 JIEt=IHE ES 2,59%,030 1,599,000 996,030
OBt SEBIH (BRI ZAL 2% N)
2,177,000,000& 2,177,000
Jl 2,177,000
OBAIIZAE2E R (5HIE)(I12)
418,030,000& 418,030
Jl 418,030
SLAHIIS BES(HEEHZAIY) (EX) 30,898 30,219 679
Jl 30,898
701 JIEtRI HSHES 30,898 30,219 679
Jl 30,898
01 JIEt=I AN ES 30,898 30,219 679
Odt+==SE3A(HIESNZAY) 30,898
7l 30,898
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Jl 777,000
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